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Woman Work

I've got the children to tend
The clothes to mend
The floor to mop
The food to shop
Then the chicken to fry
The baby to dry
I got company to feed
The garden to weed
I've got shirts to press
The tots to dress
The cane to be cut
I gotta clean up this hut
Then see about the sick
And the cotton to pick.

Shine on me, sunshine
Rain on me, rain
Fall softly, dewdrops
And cool my brow again.

Storm, blow me from here
With your fiercest wind
Let me float across the sky
'Til I can rest again.

Fall gently, snowflakes
Cover me with white
Cold icy kisses and
Let me rest tonight.

Sun, rain, curving sky
Mountain, oceans, leaf and stone
Star shine, moon glow
You're all that I can call my own.

                                          Maya Angelou


Overheard in County Sligo

I married a man from County Roscommon
and I live in the back of beyond
with a field of cows and a yard of hens
and six white geese on the pond.

At my door’s a square of yellow corn
caught up by its corners and shaken,
and the road runs down through the open gate
and freedom’s there for the taking.

I had thought to work on the Abbey stage
or have my name in a book,
to see my thought on the printed page,
or still the crowd with a look.
But I turn to fold the breakfast cloth
and to polish the lustre and brass,
to order and dust the tumbled rooms
and find my face in the glass.

I ought to feel I’m a happy woman
for I lie in the lap of the land,
but I married the man from County Roscommon
and I live at the back of beyond.
                                      Gillian Clarke









______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
MATHS(2)















[image: ]PCD 











Task 1
[image: ]



[image: ]













[image: ]Task 2


[image: ]










Task 3
[image: ]




[image: ]
[image: ]
















Task 4
[image: ]
[image: ]





[image: ]

























[image: ]Task 5







[image: ]

[image: ]































[image: ]Task 6







[image: ]














[image: ]Task 7






[image: ]










Task 8 
[image: ]






[image: ]












[image: ]Task 9 
[image: ]




[image: ]















[image: ]Task 10 





[image: ]
















[image: ]Task 11  








[image: ]










[image: ]








[image: ]
























MATHS (3)













PCD 
[image: ]










[image: ]Task 1







[image: ]











[image: ]Task 2







[image: ]




[image: ]






[image: ]Task 3





[image: ]
















Task 4
[image: ]




[image: ]
[image: ]












Task 5
[image: ]
[image: ]





[image: ]
























[image: ]Task 6



[image: ]















[image: ]Task 7








[image: ]













[image: ]Task 8








[image: ]












Task 9 
[image: ]






[image: ]












Task 10
[image: ]






[image: ]
[image: ]




SCIENCE





REMINDERS - COMBINED SCIENCE TRILOGY TOPICS and REQUIRED PRACTICALS
	Paper 1
	Paper 2

	Biology
	Cell Biology
1. Microscopy 
2. Osmosis 
	Biology
	Homeostasis
6. Reaction times

	
	Organisation
3. Food tests
4. Effect of pH on enzymes
	
	Inheritance

	
	Infection
	
	Ecology
7. Distribution – Sampling techniques

	
	Bioenergetics
5. Photosynthesis 
	
	

	Chemistry
	Atomic Structure
	Chemistry
	Rate and extent of chemical change
11. Rates of reactions

	
	Structures and Bonding
	
	Organic Chemistry

	
	Quantitative Chemistry
	
	Chemical analysis
12. Chromatography

	
	Chemical changes
8. Making Salts
9. Electrolysis
	
	Chemistry of the atmosphere

	
	Energy changes
10. Temperature changes
	
	Using resources
13. analysis and purification of water

	Physics
	Energy
14. Specific Heat Capacity
	Physics
	Forces
18. Hookes Law
19. Acceleration 

	
	Electricity
15. Resistance of a wire / of resistors in series and parallel
16. I-V characteristics
	
	Waves
20. Waves in water and solids
21. Surfaces and radiation

	
	Particle model of matter
17. Density
	
	Magnets and electromagnets



PART 1 – CONTENT
ATOMIC STRUCTURE 

What is an atom?
____________________________________________________________________________________________________________________________________________
What is the definition of an element?
____________________________________________________________________________________________________________________________________________
What is the definition of a compound?
____________________________________________________________________________________________________________________________________________
Why do elements form compounds?
____________________________________________________________________________________________________________________________________________

The structure of an atom – Label each part of the atom including name, charge and mass.

[image: ]

Why are atoms neutral overall?
______________________________________________________________________

EXAMPLE QUESTION
[image: ]Hint:
How many electrons should there be on each shell?
How many electrons should there be in total?

[image: ]






LINKING ATOMIC STRUCTURE AND THE PERIODIC TABLE
What information can we find out about an atom by looking at its position on the periodic table?
List your ideas below:
Hint: 
· What does the group number tell us?


· What does the period (row) tell us?


· What does the atomic number tell us?


· What does the mass tell us?














EXAMPLE QUESTION
[image: ]
An element with 1 electron in its outer shell 
______________________________________________________________________
Two elements with the same number of electrons in their outer shell
______________________________________________________________________
Two elements with the same number of shells ______________________________________________________________________
An element with a full outer shell ______________________________________________________________________





PART 2 CONTENT – STRUCTURE AND BONDING
IONIC BONDS

What can you remember about ionic bonds?


Ionic bonds





Why do elements form bonds with other elements? (Hint- what are they trying to achieve in terms of electron shells?)
____________________________________________________________________________________________________________________________________________
Which elements form ionic bonds?
____________________________________________________________________________________________________________________________________________

In ionic bonding metal atoms _________ their outer electrons and become ______________ charged ions, non- metal atoms _______________ electrons to obtain a full outer shell and become ______________ charged ions. (Hint which loses and which gains electrons)

What is an ion?
______________________________________________________________________

EXAMPLE QUESTION
[image: ]Hint: count the electrons on the outer shell.
How can it fill this shell?



LINKS TO ATOMIC STRUCURE AND PERIODIC TABLE
Using your of the Periodic table and electronic structure fill in the table below.

	Name of the element
	Group number
	Number of electrons in the outer shell
	How does it obtain a full outer shell
	Charge of the ion formed


	Sodium
	
	
	
	

	Magnesium
	
	
	
	

	Oxygen
	
	
	
	

	Chlorine
	
	
	
	



[image: ]Use the table above to help you.
Check the Periodic table to find out which group these elements are in.
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What is an ionic bond?The ions will be …………
What is the name of the force that holds them together?
Describe the strength of this force.

[image: ]
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Describe the structure of an ionic compound.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
EXAMPLE QUESTION
[image: Screen Clipping]The structure is…

The type of bond is called a

The name of the force is..

This force is between opposite ..


[image: ]
How is sodium chloride produced from sodium and chlorine? Answer in terms of electrons.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
EXAMPLE QUESTION
[image: ]
[image: ]
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IONIC BONDS AND THEIR PROPERTIES
[image: Screen Clipping]       [image: http://www.ck12.org/flx/show/THUMB_POSTCARD/image/user%3Ack12editor/201411241416847258051471_9d45b441d33636dc254416ab832f77b3-201411241416847572753431.png]                        [image: Image result for ionic compounds properties]
Why do ionic compounds have high melting and boiling points?
Hint: What can we say about the strength of the electrostatic force? ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Why do ionic compounds dissolve in water?
Hint: what are the water molecules doing to the lattice?
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Why do ionic compounds conduct electricity when molten or dissolved in water but not when solid?
Hint: what do the ions need to be able to do to carry a charge throughout the whole substance?
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

EXAMPLE QUESTIONS
Calcium carbonate has a high melting point and is a solid at room temperature. 
As a solid it is unable to conduct electricity, but when melted or dissolved in water it is able to conduct electricity.
Explain In terms of structure and bonding why. Use the diagrams and information above to help you.
Calcium carbonate has a high melting point and is a solid at room temperature			(3)
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
Solid calcium carbonate is unable to conduct electricity						(2)
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
Calcium carbonate is able to conduct electricity when melted or dissolved in water		(2)
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
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PART 3 - ELECTROLYSIS
Write down everything you know about electrolysis.


Electrolysis





What is the definition of electrolysis?
__________________________________________________________________________________________________________________________________________________________________________________________________________________

Add labels to the diagram below:		Anode, cathode, electrolyte.
[image: ]


What do we mean by the electrolyte?
____________________________________________________________________________________________________________________________________________

LINKING ELECTROLYSIS TO IONIC COMPOUND PROPERTIES
Electrolysis separates ionic compounds into their original elements using electricity.
Why do ionic compounds need to be molten or dissolved to undergo electrolysis?
The ions need to be able to _________________. They cannot do this when the ionic compound is a _________________.



EXAMPLE QUESTION
[image: ]
[image: ]

[image: ]
Recap from ionic bonding
What is an ion?
____________________________________________________________________________________________________________________________________________
How are metal ions formed? (What happens in terms of electrons?)
______________________________________________________________________
How are non-metal ions formed? (What happens in terms of electrons?)
______________________________________________________________________




Electrolysis involves turning an ion back into a neutral atom. Using the information above, how atoms formed from ions.
Metal element (What happens in terms of electrons?):
______________________________________________________________________
Non-metal element (What happens in terms of electrons?):
______________________________________________________________________

Why do metal ions move towards the cathode (Think about the charges)?
____________________________________________________________________________________________________________________________________________

Why do non-metal ions move towards the anode (Think about the charges)?
____________________________________________________________________________________________________________________________________________

Fill in the table below:
	Name of compound
	Element formed at the anode
	Element formed at the cathode

	Lithium fluoride
	
	

	Magnesium oxide
	
	

	Potassium iodide
	
	

	Sodium chloride
	
	

	Beryllium bromide
	
	



EXAMPLE QUESTION
[image: ]

EXAMPLE QUESTION
[image: ]
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In the first poem, Woman Work, a black woman speaks about her life in the southern states of the
USA. In the second poem, Overheard in County Sligo, a woman speaks about her life in Ireland.

Woman Wark

Let's read Woman Work.

Remember, you will gt limited contextual detailin the.
real unseen exam. However, Maya Angelou sa fantastic
writer and | want o share a few things about her.

An acclaimed American poet, storytller, activist, and auto
biographer, Maya Angelou was born Marguerite Joinson
in St Louls, Missouri,USA. Angelou had a broad career as
3 singer, dancer, actress, composer, and Hollywood'sfirst
femle black director, but became most famous as a
write, editor, essaylst, playwright, and poet. As a il
rights activist, Angelouworked for Dr. Martin Luther King
ir.and Malcolm X, She was also an educator and served as
the Reynolds professor of American Studies at Wake
Forest University.
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EEn ™ Let’s annotate together gy
‘meaning?

Woman Work

I've got fhe childrento fend
The clothes fo mend
The floor fo mop.

The food fo shop

Then the chickento fry
The baby fo dry.

1 got company o feed
The garden fo weed
I've gof shirfs o press
The fofs fo dress.

The cane fo be cut

= Igotta clean up hishut
Thensee about fhe sick
Comier ] And the coffon fo pick.
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Read the poem for the

woeme - Let’s annotate together

meaning?

Shine on me, sunshine
Rain on me, rain
Fallsoftly, dewdrops

And cool my brow again.

Storm, blow me from here
With your flercestwind

Let me float across fhe sky
Till can rest again.
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Read the poem for the

firtime Let’s annotate together

What is the general
meaning?

Fall genty, snowfiokes
Coverme with white
Coldicy Kissesand
Let merest fonight.

Sun, rain, curving sky

Mountain, oceans, leaf and stone
Star shine, moon glow
You'reallthat I can callmy own.
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Think about the question. W
Read the poem for the second tirme.
Begin to add fo your annotations.

You it gt 1o ick ottt How does the poet
‘and layers of interpretation. gr‘esen‘r the

What key language/ structural

methads trecte impact? speaker's feelings
Tk SILE/METHODS about her life?

Docs she use poetic devices like similes or metaphors o
create images?
Sensory language?
(Can you hear the sounds of words? Aliteration,
assonance, sibilance?.
Lexical field of words?
‘Structure like punctuation, line lengths, stanzas, sentence
length etc.
Tone of voice? Harsh or sof t? Does it change?
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Response 1

Response 2 |

The writer feels like she does nof have a second
10 rest. The lack of punctuation throughout the
first stanza, as she discusses all of her chores
“The floor o mop/ the food fo shop' creates @
sense of breathlessness. The enjambment
successfully highlights how the speaker of the
poem is overworked and has to relentlessly
complete many fasks. Additionally, the rhyming
couplets create a song-ike quality and ef fectively
mirror the constant rhythm of the speaker’s life.
and the fact fhat she has no fime fo sfop. The
way that the first stanza is structured
effectively forces the reader o read the poem
with pace: this allows the reader fo empathise
with the woman as they try fo catch their breath.

The writer uses lots of verbs in the
first stanza. She talks about how she
has to ‘tend’, 'mend’, ‘feed’ and ‘weed'.
The verbs highlight how she is always:
doing something; she is never resting.
Additionally, the verbs are definitely
associated with jobs that are not
necessarily enjoyable: They are jobs
and chores that can be challenging.

Annotate these responses.
What is successful?
What could be improved?
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Over toyou.

You have 30 minutes to write
up your best three ideas.

How does the

poet present
the speaker's

feelings about
her life?

TOP BAND CHECKLIST
~Relate to the buzz words of the question throughout
~Sophisticated style/ phrasing
~Strong evidence (is it embedded?)
Identify techniques/ methods/ zoom in on key words
~Layers of interpretation (explore the effect)
s effective because.
.this successfully highlights...
.this strongly asserts that...
.this is particularly good at...
.this makes the reader feel.
.this createsa sense of .
~Writer's didactic purpose
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Comparing Unseen Poems. W=

This is a short 8 mark question so it is important to:

* Make all your comments comparative
« Concentrate on the_methods the two writers use
* Focus carefully on the question you're been asked.

No matter how well you have structured
your response, if you.do not compare,
you will get zero.
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Comparing

In ‘Woman Work, and ‘Over heard
in County Sligo’, the speakers
describe the lives they are living.
What are the similarities and/or
differences between the ways the
poets describe their |

N +
predicaments? mathods

Whatis the question asking you fodo>  *

Read ‘Overheardin County Sligo’ for the
first time so you get a general meaning.

Read it for the second fime.
Begin fo identify 2/3 key things.

Think about the Question.
Think about the first poem, ‘Woman Work',
‘again. How are you going fo make.
comparisons?

Use a comparative statement/word fo open
Your next paragraph then repeat the step
above for the second poem linking it to the
first.

Werite a balanced response.
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Read the poem for the

i = Let’s read poem two
S
and annotate together

meaning?
Overheard in County Sligo L

| married a man from County Roscommon
and!live in the back of beyond

with a field of cows and a yard of hens
andsix

At my door's a square of yellow corn
caughtup by its corners and shaken,

‘andthe road runs down through the open gate.
‘and freedo's there for the taking.

1 had thought to work on the Abbey stage.

] or stil the crowd with a look.
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Read the poem for the

firs me Let’s annotate together

What is the general
meaning?

But | turn to fold the breakfast coth
andto polishthe lustre and brass,

to order and dust the tumbled raoms
‘andfind my face in the glass

| oughttofeel 'm a happy woman
for iein the lap of the and,

but | married the man from County Roscommon
andllive at the back of beyond.
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In 'Woman Work’, and ‘Over heard in County Sligo’, the speakers describe the lives they are living. What are the
similarities and/or differences between the ways the poets describe their predicaments?

1

In both ‘Woman Work' and
‘Overheard in County Sligo’ the
poets utilise structure to convey
how the women are feeling. The
BABA rhyming scheme mirrors
the speakers monotonous life
and how she feels trapped
whereas in"Woman Work' the
enjambment and rhyming
couplets in the first stanza show
how the woman does ot have
time to pause and rest.

Annotate these responses.
What is successful?
What could be improved?

2 In'Woman Work the speaker finds

salvation in the natural world towards
the end of the poem when it says ‘Fall
softly, dewdrops/And cool my brow
again” The writer presents the notion
that nature has the power to create a
sense of escapism and salvation for the
woman. However, in ‘Overheard in County
Sligo’ the woman is surrounded by nature
yet feels 'trapped in the back of
beyond. the speaker feels trapped in
her predicament, living on a farm and
her life isn't how she anticipated it
would be.
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Over toyou.

You have 30 minutes to write
up your best three ideas.

In'Woman Work', and ‘Over
heardin County Sligo’, the
speakers describe The lives
they are living. What are the
similarities and/or differences
between the ways the poets
describe their predicaments?

TOP BAND CHECKLIST
~Relate to the buzz words of the question throughout
~Comparative structure throughout
-Compare the EFFECT of methods used
~Sophisticated style/ phrasing.
~Strong evidence (is it embedded?)
Identify techniques/ methods/ zoom in on key words
~Layers of interpretation (explore the effect)

.this is effective because...
his successfully highlights.
..this strongly asserts that..
.this is particularly good at...
.this makes the reader feel
..this creates a sense of.
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(a) Change £325 into euros (€). 9 Sp
== - She bought
‘She changes the rest back to pounds (£).
B T 2 necklaces for €2.60 each
The exchange rate is now £1 = 1.2 euros. 1 hat for €6.40
When she came home she changed €117 into pounds. orte
2 How much, in pounds, does she get back? 1 bag for €9.80
The new exchange rate was £1 = €1.50
_— ¢ new exchange ate was The exchange rate was £1 = €1.25
15955 (b)  Change €117 into pounds.
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(b) Work out her total bill in pounds (£).





image31.png
Ratio and proportion L * - SMART Notebook

File Edit View Insert Format Tools Add-ons Help

E

N

8o A

LR
WA /@

AR E

£2

|

Mar 130833

2

Mar 130833

2

Mar 130833

27

Mar 130833

NE
U xma ’*H“&

Example

The ingredients for making 10 pancakes are shown.

a) Work out the amount of each ingredient needed to
make 15 pancakes.

Ingredients to make
10 pancakes

2 eggs

150g flour
250ml milk

'. PONTEFRACT
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Var 12085 Questions Fred has a recipe for 30 biscuits.

Ingredients for 10 Flapjacks
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Here is a list of ingredients for 30 biscuits.

AR E

21 3 80 g rolled oats
Self-raising flour ~ : 230g
[ 60 g butter Butter :150g
s Caster sugar : 100g

30 m/ golden syrup Eges

28 36 g light brown sugar
Work out the amount of cach ingredient needed to make 15 Flapjacks. Complete his new list of ingredients for 45 biscuits.
Var 3055
@ & rolled oats Self-raising flour
|
29
.. g butter Butter
e m/ golden syrup Caster sugar
. Eges
...g light brown sugar
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Ingredients to make
- Amy has 10 eggs .
900g flour
130833 2 eggs

750 ml milk 150g flour
250ml milk

i Workout the greatest number of pancakes Amy can make
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: pear & almond crumble
Al S Questions
Shorteakes Ingredients for 4 people:
F7: I Makes 12 shortcakes 80 g plain flour
E o S0g ofsugar 60 g ground almonds
200 g of butter 90 g soft brown sugar
SR 200g of flour
10m/ of milk 60 g butter
32 = 4 ripe pears
— Robert has 500 g of sugar
e 1000 g of butter Graham has 400g of plain flour
o 1000 g of flour 600g of ground almonds
500 m/ of milk 270g of soft brown sugar
335
Work out the greatest number of shortcakes Robert can make. 150g of butter
10 ripe pears
T Work out the greatest number of people Graham can makf
pear & almond crumble for
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e
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J There are 14 pounds in a stone.
s Use the conversion, 2.2 pounds = 1 kilogram to convert Ted’s weight into
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Example

Wayne is 5 feet 7 inches tall.
There are 12 inches in a foot.

Use the conversion, 1 inch = 2.5 cm to convert George's height into
metres.

'. PONTEFRACT
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29, Hannah is 5 feet 2 inches tall. Bailey weighs 9stones 6 pounds.
. . There are 12 inches in a foot. There are 14 pounds in a stone.
Var 13363 Use the conversion, 1 inch = 2.5 cm to convert Hannah's height into Use the conversion, 2.2 pounds = 1 kilogram to convert Bailey's weight into
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A fruit bowl contains apples, bananas and pears.
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Questions
:f=2:3 and f:g=5:4

Workout e:g

Give your answer in its simplest form.

At a concert the ratio of men to womenis 5:3
The ratio of women to childrenis 7: 4

Write this in the ratio of men to children

' PONTEFRACT

Adam, Ben and Chris receive pocket money each week

Adam and Ben receive pocket money in the ratio 10 - 9
Ben and Chris receive pocket money in the ratio 5 - 4

Work out the ratio for Adam : Chris
Give your answer in its simplest form.

The population of a village is in the following ratios.

* men: children=11:3

* women : children =5:2

Find the ratio men : women.
Give your answer in its simplest form.
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In a box of mixed nuts, the total number of almonds, cashews and peanuts is 1025.
s The ratio of almonds to cashews is 1: 3.
The ratio of cashews to peanutsis 5: 7.
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Calculate the number of cashews in the box.
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Questions

At a concert the ratio of men to children is 5:3
The ratio of women to children is 7:4.

The 300 men went to the concert.

How many children went the concert?

In a pencil case there are black, red and purple pens.

The number of black pens to red pens is 4:3

The number of red pens to purple pens is 2:1.

The total number of pens is 51. How many pens of each colour
Are there?

'. PONTEFRACT

The ratio of Adam and Ben’s age is 2:3
The ratio of Ben and Carl’s age is 5:4

Ben is 15 years older than Adam.

How old is Chris?

A pattern consists of black, white and grey tiles
The ratio of black tiles to white tiles is 4:5
The ratio of white tiles to grey tiles is 2:7

The pattern has 8 more white tiles than black tiles

In total, how many tiles is the pattern made of?
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Questions

'. PONTEFRACT

1) This month there were 14 sunny days and 16 wet days
Find the ratio of sunny days to wet days.

2) In a bag of sweets 10 are yellow and 15 blue.

Find the ratio of yellow to blue sweets

3) A coach has room for 28 sitting and 16 standing

Find the ratio of sitting to standing

4) In a class there is 12 girls and 18 boys.

Find the ratio of girls to boys in the class

5) In a bag of marbles 55 are blue and 45 are green

Find the ratio of blue to green marbles





image49.png
Ratio and proportion L * - SMART Notebook - X
File Edit View Insett Format Tools Add-ons Help

50B 6T & . A
“'"é“a“ﬁl“,x-‘*H“WA/ux
S Questions

1: Amaths club has 25 members, of which 11 are male and the rest are female.
What is the ratio of males to females?

l

AR E
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0 = What is the ratio of girls to boys?
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Questions

Question 1: Keith buys 6 pencils for 90p
(a) How much does one pencil cost?

(b) How much would Five pencils cost?
(c) How much would eleven pencils cost?

Ve s
Vi

Question 2: Jack and Harry are waiters in a restaurant.
They are both paid the same amount of money for each hour

that they work.
Jack worked 6 hours and is paid £48 H
Harry worked 8 hours /O
Question 3: A car travels 120 miles in 3 hours at a steady
speed.

(a) How far does the car travel in 1 hour?

(b) How far does the car travel in 8 hours?

How much money is Harry paid?

" PONTEFRACT

Question 4: A plumber charges £140 for a 4 hour job.
How much does the plumber charge for a 3 hour job?

Question 5: Seven candles cost £45.29
How much would 25 candles cost?

Question 6: If 24 marbles have a mass of 60g, what would the
mass of 60 marbles be?
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A pack of 6 eggs costs £1.30
A pack of 18 eggs costs £3.75

Which size pack gives better value
for money?

'. PONTEFRACT

00

Pack of 6 eggs Pack of 18 eggs
£1.30 £3.75
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Niariss s Questions Work out the best buy for each of the following products
Chocolate Apple juice Oranges

S & 1 7

)
Sl‘r;gle i;’i’; 3 cartons 6 cartons Pack of 4 Pack of 12
P . £1.65 £2.95 £1.20 £3.80
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Kitchen roll B Baked beans
— m @ D .
8 rolls 200ml 400m!
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The electronic structure of a neon atom shown in Figure 2 s not correct.

Explain what is wrong with the electronic structure shown in Figure 2





image58.tmp
3)




image59.tmp
(a) The symbols for seven different elements are shown in Figure 1

Figure 1

Be

Na

Choose the correct symbol from Figure 1 to answer each question
You may use each symbol once, more than once or not at all

Write the symbol that represents:
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The diagram represents the electron amrangement of  fluorine atom.

Explain how a fluorine atom can change into a fluoride ion, F~

@
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The diagrams below show the electronic structure of an atom of calcium and an atom
of oxygen.

calcium aom oxygen atom

Describe fully what happens to its electrons when:

(i) a calcium atom forms a calcium ion. State the charge on the calcium ion formed

3)
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(i) an oxygen atom forms an oxygen ion. State the charge on the oxygen ion formed.
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Tifle: Unseen Poetry Revision

Q1. What are the literature texts that you have studied?
Q2. How many of the 15 Power and Conflict Poems can

you remember?

Q3. List 5 devices that you might look for in a poem.

Q4. List 4 contextual factors associated with Victorian

Literature.
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Q1.

This question is about sodium chloride and iodine.

(a)  Describe the structure and bonding in sodium chioride.

4)
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(c)  Sodium reacts with chlorine to produce sodium chioride.
sodium  +  chlorine  —>  sodium chioride
The diagram shows how the reaction happens.

Only the outer electrons are shown

Sodium atom  Chlorine atom Sodium ion Chloride ion

NN DTy
NANS J

Draw a ring around the correct answer to complete each sentence.

gaining

i) A sodium atom changes into a sodium ion by an electron
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anegative

(i) A sodium ion has

a positive

(i) The ions in sodium chioride are held together by

covalent
electrostatic

magnetic

(4]

(4]
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[Potassium reacts with fluorine to produce the ionic compound potassium fluoride (KF).

Figure 3 shows the transfer of electrons during the reaction.

Figure 3

() Describe what happens when potassium reacts with fluorine to produce potassium
fluoride.

Wite about electron transfer in your answer.
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An ionic compound is a giant structure of ions. The ions have a
regular, repeating arrangement called an ionic lattice. The
lattice is formed because the ons attract each other and form a
regular pattern with oppositely charged ions next to each other.

A two-dimensional space-filling model for the ionic Lattice in sodium chloride
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How Salt Dissolves in Water

\]
Sodium (Na) ‘ "
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The drawing shows a container of a compound called magnesium chioride.

(i) How many elements are joined together to form magnesium chioride?

(U]
(i) Magnesium chioride is an ionic compound. What are the names of its ions?

fons and ions

(U]
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Learning Focus
To revise unseen poetry

Learning Outcomes:

> Andlyse the effect of language, structure and form
» Compare the effect of poetic methods
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(iv)

v)

Complete the sentence.

lons are atoms, or groups of atoms, which have lost or gained

(U]
Suggest three properties which magnesium chioride has because it is an ionic compound.

Property 1

Property 2

Property 3

3)




image74.png
rj

Molten Naly





image75.tmp
1.

This question is about zinc.

Figure 1 shows the electrolysis of molten zinc chloride.

Negative electrode

Figure 1

d.c. power

supply

[
—zn2+

Positive electrode

Molten zinc

(@)  Zinc chloride is an ionic substance.

Complete the sentence.

When zinc chloride is molten, it will conduct

chloride

(U]
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{The electrolysis of sodium chioride solution produces useful substances.

(a)

@

Choose a word from the box to complete the sentence.

covalent fonic non-metallic

Electrolysis takes place when electricity passes through

compounds when they are molten or in solution.

m
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Explain why sodium chloride solution conducts electricity.

@
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Why do chloride ions move to the positive electrode?

m
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‘This question is about zinc.

Figure 1 shows the electrolysis of molten zinc chloride.

Figure 1

Negative electrode dc. power Positive electrode
supply

Molten zinc
chloride
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(b)

Zinc ions move towards the negative electrode where they gain electrons to produce
zinc.

(i) Name the product formed at the positive electrode.

(4]

(i) Explain why zinc ions move towards the negative electrode.

@)
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What do these words mean?

heaviness
Which do you need to look up? confined

erfurbed
Which do you need to log? 2
despondent

As you consider the poems today, think — —
about which words are most dissatisfied
appropriate.

discontented
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